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 פתרונות -803שאלון 
1.   

 ש"ח 30ש"ח, מחיר צעצוע ב'  50מחיר צעצוע א'  .א
 10%-המחיר עלה ב .ב

2.   
) .א )B 6,5 

 8 .ב
 הוכחה .ג
 יחידות שטח 22.5 .ד

3.   
  .א

R 5= 

( )22x y 5 25+ − = 

   .ב
)1( y 8= 

)2( ( )B 4,8− 

   .ג
 חישוב )1(
)2( 18.944 

4.   
x .א 0≠ 

)מינימום  .ב )2,8 

)מקסימום  )2,0− 

2עולה:   .ג x− >  
          2 x<   
2יורדת:  x 2− < xכאשר    > 0≠ 

) .ד )2,0− 

 IIגרף  .ה
5.   

x .א 1, 1= − 
   .ב

)1( y 3= 

)2( ( ) 3f x 4x 3x 2= − + 

BC .ג 8= 
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)1( 18y
x

= 

)2( 1083x
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